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Questionl:-Which of the following was/were the constructive programme/s in the
Non-Cooperation Movement, the first mass agitation held in India under the
leadership of Mahatma Gandhi ?

i. Establish National Schools

ii. Prohibition of alcohol
iii. Eradication of untouchability
iv. Spin khadi cloth using charka

A:-Only (i and iv)

B:-Only (i and ii)

C:-Only (ii and iii)

D:-All the above (i, ii, iii and iv)
Correct Answer:- Option-D

Question2:-Which among the following was not a demand in Kisan Manifesto
prepared by All India Kisan Congress under the leadership of N. G. Ranga in All India
Kisan Samithi Conference in 1936 ?

i. Recognise peasant unions

ii. Ensure minimum wage
iii. Withdraw permanent land revenue system
iv. Reduce 50% of land tax

A:-Only i

B:-Only ii and iii

C:-Only iii

D:-Only iv

Correct Answer:- Option-C

Question3:-Rabindranath Tagore, the Nobel Prize laureate in literature was world
famous in which of the following field/s ?
i. Poet
ii. Novelist and Short story writer
iii. Play writer
iv. Thinker

A:-Only i
B:-Only i and ii
C:-Only i and iii



D:-All the above (i, ii, iii and iv)
Correct Answer:- Option-D

Question4:-ldentify the person from the following explanations.
i. He was a social reformer who fought against superstitions,
ii. A pioneer in Indian education,
iii. A trend setter in Bengali prose and Indian press.
iv. And his influence was apparent in the fields of politics, public administration,
education and religion.

A:-Raja Ram Mohan Roy
B:-Swami Vivekananda
C:-Rabindranath Tagore
D:-Ishwarchandra Vidyasagar
Correct Answer:- Option-A

Question5:-The first sessions of the Indian National Congress were held from 1885
to 1888 at which places ?

A:-Bombay, Allahabad, Kolkata and Madras
B:-Bombay, Kolkata, Madras and Allahabad
C:-Bombay, Madras, Kolkata and Allahabad
D:-Bombay, Kolkata, Allahabad and Madras
Correct Answer:- Option-B

Question6:-"l am convinced that the only key to the solution of the world's
problems and of India's problems lies in socialism" Whose words are this ?

A:-M. K. Gandhi (Belgaum - 1924)
B:-Vallabhbhai Patel (Karachi - 1931)
C:-Jawaharlal Nehru (Lucknow - 1937)
D:-Subhas Chandra Bose (Haripura - 1938)
Correct Answer:- Option-C

Question7:-Match the following with appropriate options.
1. Nasik Conspiracy Case a. 1925
2. Delhi Conspiracy Case b. 1910
3. Kakori Conspiracy Case c. 1929
4. Meerut Conspiracy Case d. 1912

A:-1-c, 2-a, 3-d, 4-b
B:-1-b, 2-d, 3-a, 4-c
C:-1-d, 2-c, 3-b, 4-a
D:-1-a, 2-b, 3-c, 4-d
Correct Answer:- Option-B

Question8:-The founder/s of The Deccan Education Society in 1884 in Pune is/are
i. G. G. Agarkar
ii. Bal Gangadhar Tilak



iii. Mahadev Govinda Ranade

A:-Only i
B:-Both i and ii
C:-Both ii and iii

D:-All the above (i, ii and iii)
Correct Answer:- Option-D

Question9:-Scientists have discovered a remarkable case of a "virgin birth" in 2023
at a Costa Rican zoo. The first documented case of this "virgin birth" in which
species ?

A:-Rabbit

B:-Crocodile

C:-Snake

D:-Turtle

Correct Answer:- Option-B

Question10:-'Alef Armada Model Zero', the car that can be flown in air or driven on
road, was approved in which country ?

A:-Germany

B:-France

C:-USA

D:-China

Correct Answer:- Option-C

Questionl1:-Which country's football team clinched the Intercontinental Cup in
20237

A:-India

B:-China

C:-Japan

D:-Sri Lanka

Correct Answer:- Option-A

Question12:-Which of the article/s of Indian Constitution aim to establish social and
economic democracy/justice through a welfare state ?

A:-Articles 12 to 35
B:-Articles 36 to 51
C:-Article 51 A

D:-Articles 308 to 323
Correct Answer:- Option-B

Questionl13:-Which among the following was the first European nation which broke
through the Portuguese monopoly in the east ?

A:-France



B:-Netherlands

C:-Britain

D:-Spain

Correct Answer:- Option-B

Questionl14:-Which of the following adjective is wrong about Dadabhai Naoroji ?
i. Father of Indian politics

ii. First Indian College Professor

iii. Founder of 'Voice of India'

A:-Only ii

B:-Only i and ii

C:-All the above (i, ii and iii)
D:-None of the above
Correct Answer:- Option-D

Questionl15:-He was a Hindu philosopher, social leader and founder of a reform
movement of Hinduism. His book is Satyarth Prakash has remained one of the
influential text on the philosophy of the Vedas and clarifications of various ideas
and duties of human beings. Choose the most suitable person.

A:-Dayanand Saraswati
B:-Swami Vivekananda
C:-Jyotirao Phule

D:-Ishwar Chandra Vidyasagar
Correct Answer:- Option-A

Questionl6:-You are a curriculum developer tasked with designing an innovative
educational program to enhance critical thinking skills among high school students.
You have four different models to choose from, each with distinct approaches.
Which model best aligns with developing students' ability to evaluate and create,
while also promoting engagement and real-world application ?

A:-Emphasizes project-based learning (PBL) where students work on complex,
real-world problems over extended periods.

B:-Focuses on Socratic seminars and debates to foster dialogue and inquiry.

C:-Integrates technology and gamification to create interactive and engaging
learning experiences.

D:-Combines traditional lectures with a strong emphasis on standardized
testing and rote memorization to ensure foundational knowledge.

Correct Answer:- Option-A

Questionl7:-Which of the following combinations of strategies best suits with the
principles of the Inquiry Training Model ?

A:-Encouraging Student-Generated Questions, Guided Discovery, Collaborative
Group Work.

B:-Encouraging Student-Generated Questions, Problem-Based Learning,
Reflective Journals.



C:-Guided Discovery, Teacher-Led Demonstrations, Direct Instruction on
Research Methods.

D:-Problem-Based Learning, Collaborative Group Work, Reflective Journals.
Correct Answer:- Option-B

Questionl18:-A history teacher implements CCE in her class throughout the
semester. She uses a variety of assessment methods, including quizzes, projects,
group discussions and self-reflections. At the end of the semester, some students
achieve high scores on the final exam but struggle to demonstrate critical thinking
skills in class discussions.

Which of the following aspects of CCE are most likely contributing to this situation ?

A:-Overemphasis on summative assessments
B:-Underutilization of formative assessments

C:-Inadequate alignment between assessment methods and learning
objectives

D:-Lack of opportunities for students to practice critical thinking skills
Correct Answer:- Option-C

Question19:-Which of the following are the main objectives of curriculum ?
1. All round development.

2. Acquisition of knowledge.

3. Development of life skills.

4. Economic development.

A:-1,2,3and 4

B:-1, 2 and 3

C:-2,3and 4

D:-1, 3and 4

Correct Answer:- Option-B

Question20:-A teacher is preparing for a microteaching session on explaining a
concept to a small group of peers. To maximize the effectiveness of the
microteaching session, the teacher should focus on which of the following :

1. Delivering a comprehensive lesson plan covering all aspects of the concept.

2. Practicing a single specific teaching skill, like using manipulatives to explain
concepts.

3. Tailoring the lesson content to the specific needs and knowledge level of the peer
group.

4. Incorporating various questioning techniques to promote student engagement.

5. Receiving constructive feedback from peers on overall teaching performance.

A:-1,2,3,4and5
B:-1, 2 and 3
C:-2,4and 5
D:-1,3and 4
Correct Answer:- Option-C
Question21:-z Fpeos 30&33@ noog); N, M <7 S8BT % FLNTIYNFY 0d0oHBO FXTD



02 0BITO BRORY ?

A:-n~maen=m (mod s)
B:-n ~ m & |n| = |m|
C-n~menm=0

D:-n~m«:n—muoc$oﬁ§oﬁoa%

Correct Answer:- Option-C
Question22:-A nieg) 4 a’fwﬁﬁ@e’go BRODT. JWOOT DO é.’)z,‘f)g EINODT 3ozooz§r1@§§b
(Equivalence relations) TWzwaxm0 ?

A:-4

B:-9

C:-15

D:-16

Correct Answer:- Option-C
Question23:-POS (FoFRF) /oy & = Rab <R) aozoodib Fapm)=a+bz QOTID mpﬁﬁmmgd,
BINIBT 32 ® NRCI (inverse) adooso ?

Ar-3

B:-/13

C:i-f3a

D:-fs

Correct Answer:- Option-A
Question24:-A 33> B neanied 3=0meN m @030 n mgdgo BRO0RTOZES. BT Fokdr 20300°
gU3T A X B 0@ axb evsrieanisd (subsets) K003 ?

A:-.7

B:-zmn

Ci-omxon

D:-gmn

Correct Answer:- Option-B
Question25:-goge® MO f: X - Y, g : Y » X Dows (functions)ned fog = .13 3ozooq35§>3
BRODS Iy DO Y © @)F\Sga" PoRzeNgQ (Identity function), 3¥NSIHNYY odveymo
200350Ne3 ?

A:-f = g1

B:-g 20200030 1 - 1 god=end

C:-f 2020060 1 - 1 FOTV=NT

D:-g ®020000 30030023 (0nto) FOBDIND



Correct Answer:- Option-B
Question26:-QHE BETTE 257-2/2541=00Q TR0 BARONY B3 [0 Soeony ga%:" DI 7

Ai-F7;
B:-25
C:-v24
D:-vz0
Correct Answer:- Option-D
Question27:-MASSASAUGA 9020830 eu30 95300800 ¢) TOBRITIE TR JRT0 HowoNTs,
30 o03 ORI VNSO &)?pg IBMYF TuRITIE) 7
A:-840
B:-1,51,200
C:-25,200
D:-36,28,800
Correct Answer:- Option-C
Question28:-2.060 Fe¢ Cosecd = -2 P 0 = 8 < 2+ sNGT OF 3509 2 7
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Correct Answer:- Option-A
Question29:-4 cm§§d Y CURVTIDNE 25950 NOF D3eee T 7
A:-scm?
B:-16cm2
C:-32em2
D:-64cm2
Correct Answer:- Option-C
Question30:-wmxezsegdodn (poly hedra) 12 Zorinisd (vertices) =02 30 woz&omfgo
(edges) B000ZT, BB aﬁo d»a)mfgb (faces) Be0WCLZW ?
A:-20
B:-40
C:-30
D:-10
Correct Answer:- Option-A

Question31:-88 3$NTIHYNYY 03I0HBO +7+5+2=0(mods) RIICTT I3 eac‘:)zpa% SIRODINT
(integral root) ?



A:-1

B:-2

C:-3

D:-4

Correct Answer:- Option-D
Question32:-2n1 2030 ea&’)zpag Soaiaoi)aﬂzgd (prime number), 88 IYNTIHNYS a35Z)BO
20035073 ?

A:-N OB WOTD RPRTIE 0F

B:-n 00080 080 ea::)zpazg ﬁoa%

C:-n 020060 2,063 Y 303331)3?\(5

D:-n 200060 2,080 233 3033‘2‘S

Correct Answer:- Option-B
Question33:-3oa§s156 cbgi\) cjm§5 muﬁm‘g&) (Positive divisors) @eoda ?

A:-8

B:-16

C:-10

D:-12

Correct Answer:- Option-D
Question34:-Powg) 3+ @ﬁb 8 00w PNATT Bew a§o ?

A:-0

B:-1

C:-2

D:-3

Correct Answer:- Option-D
Question35:-5% = s(moan) SNGT, X = 7

A:-4

B:-3

C:-2

D:-1

Correct Answer:- Option-A
Question36:-303ces soai‘aﬁ%fg) ?&5%’@@ emégA ROW N X N 533}3? 1 &3€R° (4-74)=0
N3, A ado esNOLZT.

Ar-23055° ST



B:-5.9, 2eog55° SRESTe

C:-duoedne mgge
D:-§Q@DU6 mgge

Correct Answer:- Option-C

Question37:-3¥R B w3 3meﬁdeorw’§o Mox) BODBOJTAN, uod%oé ézzsb 20TAC D30V a
D b I wﬁgﬁ@o 0300)R) ?

X+ay=4
ax +9y =6

A:-(3, -12)
B:-(3, 12)
C:-(-3,12)
D:-83 Z5o03 a, b ea_?ggdg? QOO

Correct Answer:- Option-B
Question38:-3¢1f AR IIJYY odoa@dg{b Fedee sORwanR)RQ(diagonalizable) ?
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Correct Answer:- Option-D
Question39:-4=[; 3] 8 D83 waxwsreed (Characteristic Polynomial) cd»ayao ?

A:-z246247

B:-s2-65-7

Ci-s2-62+7

D:-z2462-7

Correct Answer:- Option-B
Question40:-3¢1t dedeard $adnvY, 0dmePso 51%5&39'&30606‘ S SoegFodd (matrix) 0z
SPORTINCIZES ?

A:-30ZRer N FQAT (Purely imaginary)

B:-0
C:-z03:3 Boadrisd (Real numbers)

D:-2g:3e w953 soalivy
Correct Answer:- Option-A
Question41:-je) =cos(%) +10g (z—1) DoWTR (function) BdeBoen® (domain) odvIso ?



A:-(-1, 1)
B:-(-, 1)
C:-(1, »)

D:-(1, 2]

Correct Answer:- Option-D
Question42:- Jim ssin(})=

A:-1

B:-0

C:-

D:--

Correct Answer:- Option-A
Question43:-xli%1+(1+x)%:

A:-1

B:-e

C:-0

D:-Qpsdzen m?&)gg

Correct Answer:- Option-B

Question44:-jq) =220 <z<r DRIVBO IG030 POVNBE (Continuous function) f(« ) =

A:--1

B:-0

C:-1

D:-c

Correct Answer:- Option-C

Question45:-erieozs® & xTaxD :ﬁ‘a%) F0eadm® (Lagrange's Mean Value theorem),

f(b) = f(a) + (b - a) f'(c) &N, 2o Sed Fo® f(x) = 5x - 1, X <03 SNZT € 0 d)’a%) ®§o
?

A:-5

B:--1

C:-(0, 3)

D:-903% ¢ 33300 ngc‘ogg

Correct Answer:- Option-C
Question46:-2,08) FOVIPO f : [-3, 5] = &, f(X) = ze= DT> 29p090RINGS, BIMBTS T
QR0 $03RYY 0l D3NS ?

A:f TR, X = -1 B9, 708 N0ZS 00



B:-f mof), x = -1 39, m@&)ﬁ 3RS YBOZW
C:-f mof), x = 0 89, m@&)ﬁ 3RS BCOZW
D:-f nef, odoey)Be m@&)ﬁ 6&)3’31:8 (Dlamy m@&)ﬁ nox3 @g,gwgdo@ag

Correct Answer:- Option-B
Question47:-:=zse=v SNQT, % cbg}o ?

A:_($y+1)ery
B:-r2emy
Ci-(z+1)e™¥
D:-(y+1)e™
Correct Answer:- Option-A
Question48:-0 < x < » 0Q, Sg30d (curve) y = cosx =03 X-078 TEIDT DJCE DT ?
A:-0
B:-1
C:-3
D:-2
Correct Answer:- Option-D
Question49:-Qe@00E RF° B Bew® BBUAD JoNE DACHE DT ?

A:-8
B:-3
C:
D:

-3
-5
Correct Answer:- Option-D

Question50:-8ed Jead, X +y = 2, v2= 1 DPSRCITF) BRI, Fomord kad [P
DHY ?

Ai-k =2
B:-k = -2
C-k=4
D:-k = -4

Correct Answer:- Option-B



Question51:-4={Zmnenm<n} BB N DOWIEO mﬁm&)ﬁ maigw NN, A o wﬁerzg
(Supremum) adsezdyso ?

A:-1

B:-0

C:-

D:-S@acmg (Supremum) 2Q

Correct Answer:- Option-A
Question52:-[0, 3] u (3, 5) T reaw 303037 (interior) Neay)

A:-[0, 5)

B:-(0, 5)

C:-(0,3)u (3, 5)

D:-[0, 5)\{3}

Correct Answer:- Option-B

Question53:-3¥n} Mta%ddoai BeFFNYY 0dr0x3)B0 3O3IPNG ?
i. TR rfean®? (Countable sets) DY emarﬂegﬁ@e’ﬁb (Subsets) 238 BB BOWNTS

(Countable).
ii. zparie?&) 303351%3(Rational numbers) ﬁsoﬁ%fgo RVBOTING (Countable).

iii. [0, 1109 z,aaﬁe)z@o 30&3@@’(Rational numbers) risomfgb 30BN (Countable).
A:-i D0 ii Foeg 7O
B:-i S0 iii &g 70
C:-ii 030 iii 3@
D:-i, ii 203 iii 30
Correct Answer:- Option-D
Question54:-[x] H0oB0 vde g Fpmor 03 (Greatest integer) FOTVITPO ARAUWRLZH.
i [He]=
A:-12
B:-1
C:-2
D:-¢
Correct Answer:- Option-B
Question55:-4={h+hmnen; SNGFT, A00T IBE Ned (Derived set) adooPHso ?

A:-{0}
B:-neo A

Ci-topufbment



D:-n
Correct Answer:- Option-C
Question56:-3903593 éce?éodom 3030, 3&.

>

ﬁMS lMS ||M8 ﬁMS

(%) uﬁ»a)mdd (converge), Z (|70 BSOT &»dwa)mmsd (converge)

(1) &wmﬁdd (diverge), n) BB z‘DaSmﬁdoScS (diverge)

i (

(Tn) z;’)aimﬂdd (diverge), Y (=.) B3RG @wmﬂdoém" (diverge)

U(')UJ

n) Q0D Z (EN) ummmmmm (converge) g9 Wedodrnwmary (diverge)

Correct Answer:- Option-C
Question57:-f : [a, b] = r FOTE KW OFEY 03T HeFFAIV :Smdﬂd ?

A:-f 2390w sNg T (bounded), f Deo™® Qotdrfew e (Riemann Integrable) esNco3w

B:-f 20030 AT030 Fod=eNg3 (Continuous function), f dexdon® Yotdiewe® (Riemann
integrable) eNCO3W

Ci-m<im<mizeeb] 030 f HOWIBO DeOR® Yotdrfewe® (Riemann integrable) esNgd,

b
m(bfa)g/ng(bfa)

D:-f Deoe® Qotdfew e (Riemann integrable) eshgd

b b
[fﬁ[\fl

Correct Answer:- Option-A
Question58:-03503 goa)eodo QBesza03Nnd (Polar Co-ordinates) (-2, -2+) 3030395000
daeszaosnnt (Rectangular Co-ordinates) 3s00eNC08ES ?

D:-(+%)
Correct Answer:- Option-C

Question59:-f<z>:jj;jl) R0WITD 2O FOBCE ﬁ@aﬁmﬂgd (Complex function)
A:-z = -1 2020030 f(z) S IBY @wmﬁd (Simple pole)
B:-z = -1 20008 f(2) & F= ORT B[N (Pole of order two)
C:-z=1, f(z) S =o¥ @da‘aﬁd (Simple pole)
D:-z =i, f(z) 8 30 &0BET FoIweNas (Pole of order two)

Correct Answer:- Option-C
Question60:-3- () Zees Doomd

A:-0d5esseniene wRnaeernidd (Converge)



B:-P = 1 esNcozen wadsadsenzgd (Converge)
C:-P > 1 esPicowsen u%»a)mmgd (Converge)
D:-P < 1 esfdossent zﬁ@momrbgd’ (Converge)

Correct Answer:- Option-C

Question61:-iz: N SoBO m"ﬁo‘ NYIBT, [a+b5+22+3]=7
A:-[at7
B:-2fzzz
Ci-3[azz
D:-sa22

Correct Answer:- Option-B

Question62:-39%° t = 0, x = acost, y = asint, z = ct ol adoRes* esaéoz:?oés‘ a"goe (Unit

Tangent Vector) 7 CD§O ?

Ai-F(0)= )¢k

B:-T(0)= %+

C:-T0)= i+ 5k

D:-Tw)= mi—f-mj—f-m

Correct Answer:- Option-C
Question63:-7=si+ui+akll =7+ ) =7

A:-i

Bi-—#

C:-pp

D:-p

Correct Answer:- Option-D
Question64:-fiwus)=s-vzi+z SNFT, 2-2i+i 2% B BIBQ (1, -2, 0) QB f(x, y, 2) I B
(Directional Derivative) odoogy@o ?

A:-1

B:--3

C:-0

D:--9

Correct Answer:- Option-B

QuestionGS:-ﬁ(r,y,z) ( )z+ cosy+x3 3».)30 C:z2+4y2=1 mmﬁd f F(z,y,2) ﬁ)’aﬁ) ?

a-CGo



C:-
D:-2x

vl

Correct Answer:- Option-C
Question66:-%+(%)g+y:o AQesoer (Equation) 330 (Order) S03) @08 (Degree)ridesy ?
A:-2, 3
B:-1, 3
C-1,1
D:-2,1
Correct Answer:- Option-D
Question67:-(z2+s-2)2 +3(=-1y=--1 O RO&JTjee3on® 03 (Integrating Factor) adsey)cso ?
A:-(x+2)3
B:-x -1
Ci-2211
D:-2x -1
Correct Answer:- Option-A
Question68:-24 s 543 1} B30T (solution) DO ?
Ai-cie®4ce?s
B:-cle_$+cze*2f+4e3f
C:-cle’:+c282x+283~’f
D:-4e32
Correct Answer:- Option-C
Question69:-5oee3é ea&’)zpag (Surface Integral) &03> B0=0eeec ea&)zpa% (Volume Integral)
&S] Sozooqidgb ABOS Fedoeody (Theorem)
A::Ned® 8 Z3oeod (Green's Theorem)
B:-é:;’uaeﬁ‘ ag&codo (Stoke's Theorem)
C:-cée’jddsafv@doeab (Divergence Theorem)
D:-gposRootser gRoead> (Fundamental Theorem)

Correct Answer:- Option-C

Question70:-%_zj—g_3y:o RACTO €AW ©0HBIONY (solutions) @c&x)boi)a‘ (Wronskian) odooxgymo
?

Ai-se-2s
B:-+ae2e
C:-o
D:-sess



Correct Answer:- Option-B
Question71:-& watss O, mm§ 30BN FPc3en?, ATY [oJ) e Wo3NY ISTNRYS.
R ce3en® SO VOV ¥ FRowmaN 16% R03> 70% 0QT, Feeden® 0B wed o3ried wedr
P% /W, ToMeBT p & Feo3, 6Jaca$£§o ?

A:-108°

B:-48°

C:-52°

D:-42°

Correct Answer:- Option-A
Question72:-83 3$NIIH)NYY 0dre)i30 dmgﬁmﬁ 300233 (positively skewed) Beéess Ryox)
Q) 7

A:-e3032030 Beé3d

B:-Qees® 3degody 00z

C:-303070, TIFO* BB 79:3)

D:-a3)i¥e) odooBe g

Correct Answer:- Option-C

Question73:-1500 JweReried 2TE B0eFadY, NOF ©03ried 150 =P FOR 03N 25.
90570 B0 AW MY F0a3edFd T BN,

©oF QTHFTIY Roady

140 @oﬁ I3 &m@rr{@’ BCFEIRNITY 90T CD§O ?

A:-80
B:-93.33
C:-75
D:-60
Correct Answer:- Option-B
Question74:-X=(z1%2) 2,080 BB SEd Bee3d. X © S0o0T QWO DFD ?

Ao

B:-7o—*w

C:_\xl;”z\

D:-z-5

Correct Answer:- Option-C

Question75:-10¢8 3@ 15 &)m?@m@é ﬁdi’: 8 ::)mz@rrie&) Revy) m@%gad. 090 90T



30N 46, 42, 51, 49, 62, 48, 50, 47 NS, 3ondodd ngﬁ 90T esN3.

A:-40

B:-42

C:-45

D:-49

Correct Answer:- Option-B
Question76:-Aedear &0ORYY 03[P 2060 B3 DIV (discrete distribution)
Te3RCEATE 93 (5,) m’b%)a'aﬁd ?

A->1

B:-<1

C-<1

D:-> 2

Correct Answer:- Option-A

Question77:-dce3d 383¢ (N > 50) m:mg ﬁaeﬁﬁ (normality test) w¥ReanHOa éaﬁg@r\i
m:mgi QoA (general rule of thumb) o35eFHEo ?

A:-z<as
B:-z>2s
C:-f<3s
D:-z>3s

Correct Answer:- Option-B

Question78:-8 x 8 zaf’ddoga‘emg 235 Weerts Qow 2 X 2 z%doga‘emg zfaﬁdQJ eao&hmm

202330eadu3 (probability) af’ﬁo ?

Correct Answer:- Option-A

Question79:-5..= 1, 2, 3, 4 A=) g:s’og PV, YT, P(r)=1, |

2

I
Lo
N
w
I
S
]

—
C
=

=t
*716

B:-

1709
* 71024

+ 315
71024

Correct Answer:- Option-C

Question80:-2)00 5¢&300 WBTFH 0B [0 Bowesy noe3od) BBV eedadserien
OB DR3YT. 930 L XY IO 10F 20 ARNAYITN 500300398, NG, =00



Iee3adnnys 5o330eadds (probability) cbf’%}o ?

Ol wioo ol

oo w>

it

Correct Answer:- Option-D

Question81:-3¢/r} AeRTOB s03NF'Y advesd 0dxw 3z 230 (random variable) D88 Dows
(characteristic function) Qu=tt:cr §J BPODT ?

A:-U(-1, 1)

B:-U(-1, 0)

C:-U(o, 1)

D:-p(x=+1)=1

Correct Answer:- Option-A
Question82:-280sexa U0, 1] 300000 eao&%mm Mo ale) @%)rwb LLl gade0dd (1)
3T F000T me EVORINID AlVeD Ale) ﬁae?s)mfo 035 ?

-1112 1n % In

(%)
aaan(f)aa(])
a2 1n(3)aa(])
Di'ln%ln(?)l“(?)
Correct Answer:- Option-D
Question83:-P(s) &0wIBY 250830 50&3&’)@&1)301)@ UZRRE FOT (pgf) NG, Honr3s

A:-5(%)
B:-5(n)
Ci-zam
D:-2(x07)
Correct Answer:- Option-B
Question84:-§:ms'53 mmg Q3T ﬁao—-’g &30 (maximum height) e3NT3.

-

3
5

|)_‘

2

3

oo w2

-2
T

Correct Answer:- Option-B

Question85:-X ~ Ny Bﬁgd, SinX & 9020 ?3'%1‘@ (approximate variance)



e3NT3.
A:'sinzu
B:-coszp
C:'sin21
D:'coszl
Correct Answer:- Option-B
Question86:-20&) 3308 Fadead (exp(1)) HIVToD Fsasa) NG
A:-maxde (2)
B:-3dcady (Exponential) (1)
C:-%Jaﬁﬂg;o—“ D30
D:-20 %Jaémess 30T
Correct Answer:- Option-C
Question87:-(X, Y) 8 a®rowog Momeosey) (X, Y) = 0.45 sNg3, r(-X + 3, 2Y + 4) =72
A:-0.90
B:-0.45
C:--0.45
D:--0.90

Correct Answer:- Option-C
Question88:-(X, Y) & 302330¢0d> 5208 30k zi’)ozossgo IR ACBOINT.

1+xy e &
f(,x,y):{T' 1<x<1l-1<y<1
0, Y@ 3

BN T,

A:-X, Y 2303
S O

B:-x2v 2303
Cﬁ \)

C:-v2x 2303
(5 \

D:-x2v?2 3303
S o

Correct Answer:- Option-D

Question89:-x,x, HCVBO §30§ RfICTIN® ga%-t’,rﬁ%ﬁa" (Independent Poisson Variates).
OR)NY 300R0 TRowaN 1, 2 NG, TN T var(X| X, +Xs|=10)="

+ 20
*73

.10
=9

C:-u
D:-&

Correct Answer:- Option-D



Question90:-50F =ne %oa@oédeg (Least Square Theory) w¥RenrOS KSE’;}CS O (Loss
function) o300 ?
A:-Dx0
3
B:-?a@g&
C:-57a8c0d
D:-3033 aaacs

Correct Answer:- Option-A
Question91:-2,080 FR040300 N ﬁ’ésﬁmfgb BPONT. e3D0T S ﬁ’ésﬁmfgb esoi% SI0BUNIZT.
(‘069‘;’3 a;s:uswgp ACDROS 0 a)ar;-’; ?ﬁé&ﬁdgb BRTBODBROS S0NROT aq—-’so Bedado® eaai%
SIBU TG ?
)

A1
B:-(¥-7)
C:-("s)

D:-None of the above
Correct Answer:- Option-B

Question92:-88 3YNTIHNYY 0o &0 ?
A:-Vopt < Vorop < Vean
B:- Vorop < Vopt < Vean
C:-Vran < Vopt < Vprop
D:- Voot < Vean = Vorop

Correct Answer:- Option-A
Question93:-wmPr D 2we03R Y FB0, (X) 0w (x1.x2) V0D BEONYFH 3030, BE I,
FINSIHNLD P(X = 1) &)‘-’cggmédgd £900%T (estimator) odmnz)mo ?

A2t

B:-2i3%

Ci-3x,-2x,

D:-max(X;,X,)

Correct Answer:- Option-D
i (CLT adogh weideos))

Question94:-nlgrgok

n

DOl i

—

oo w2

Wl



Correct Answer:- Option-B
Question95:{n(0,02)] mdoags Sdac?%doeood 20 macmga 3ri3oBe0RFT, en

3% O Fagg
A:-%
B:-%
C:-2
D:-¢
Correct Answer:- Option-A
Question96:-DTCHIT [U(-49)] 3533%30139;? s O T ©0wa%s (moment estimator)
A:-z
B:-v3s
Ci-1vas
D:-z+sv3

Correct Answer:- Option-B

Question97:-3¢n QB o eaai%nefg?, 2CTIN® (9) ® (Poisson ) IVFE 9omaT (Sufficient
Estimator) odoosymo Q) ?

A- X+ X+ X5

B:-Xutkes

Ci-X1+2X,4 X5

D:-a3)i¥e) odmgBe g

Correct Answer:- Option-C
Question98:-353300d> Megs) (Sample size) BusE303, ©03903 FDeGod 3§ 0P HTVFBE
53%5036@ (Confidence interval) H©on3a ?

A:-332591030

B:-3&8:30030010333

C:-352% 303> BRI

D:-a3)n¥e) cdmgBe g

Correct Answer:- Option-C
Question99:-ﬁomﬂ§eob OB H:f =1vsH :6£1 §b B0egAToN, HOCTo odosNnY 359%) (Z2)
2.35 ergd. Sdegad P 33093 7033,

A:-P[|Z]| > 2.35]

B:-P[Z > 2.35]

C:-P[Z < 2.35]

D:-a3)i¥e) odvo3Ese g



Correct Answer:- Option-A

Question100:-350E0 Bet3ar ST 3003 %) R0BRCHTRD OB BRYNY 30930 sa’boﬁab
DOCTRITIN. (Hoimy = ks) Nm& 20930 5332;365 :)aa—asz-' mwow (Confidence Interval) [- 2 78,
7.49] H0B0 FOBRITOIZE. ACRTIS NOBNYY odoa:gdo ,oéoimﬂd ?

A:-mH, e9§lb ?\gﬁaﬁwmdo
B:-ro 030 édgaﬁu&m
C:-Betso 3oTAY
D:-a3)i¥e) odmBe g

Correct Answer:- Option-A



